Ry REE L BRFERS

) Bk =3
SLEE 52”25

EREC 51724

BARAEE 103704

&I 4‘12“55

RE#EF 50113

e+ 5‘07“13

BREF B ik 5‘07“90

2EE 36 ‘2636 |2{i
AFHE 38°04“28 |3{i
’_“';f%iﬁ*g; 42753 |HERESEE
3 — AKX

gi_ﬁgi 50726 |MERBEEH
iq;ﬁ%iiﬁ;* 42”31 SRR E
3 — AKX

gi_ﬁgi 49”80 R
f;;?éﬁ:%i;ik 42708 KRR
3 — AKX

gi_ﬂﬁ;* 49”46 241

'O EH 4m30 34
BEER 4m00 71

B AEF 1m40

25 THE 43m63 ¥ivi

EAI] Elak =
il —th 11746(-3.3) |[H#ERBSEL




| REEER 11772(-3.3) | #ER B
EARE  [11750(-27) [HERmES
| PEA— 11742(-45) [#E R B H
EEE— 11770(-4.4) B R H:
HEBEF 11989 (-4.4)
%% 100m & BEEZERE  [13723(-41) [ERBES
5F 100m HFERE  (FiF—th 11756(-4.2)
| TEE— 11771(-42) |
FREX— 11709(-3.0) PRI H
PR KER 11“55(-3.0)
| RS 11“53(-2.1) |
| BE B [11775(-21) |
ZF 100m ERE  EEEER[13717(-6.9) [REREH
BF 100m RE A 10784¢-22) |24
ZF 100m RE IEEZRER  [12783(-22) |74
[BF 110mH $® (28T 15795(-39) |HER M H
At LEE 17728(-55) |
ZF 100mH FE  [EH<BH 16703(-2.3) |HER B H!
BF 110mH #ERE £ #$F 15762(-3.7) [;REFEH
ZF 100mH HERBE (B3 <BH  [15763(-1.6) REFEH
BF 110mH &l 2 #T [15733(-22) [54:
ZF 100mH REE  EH <BH  [15792(-33) |51
[BF 3000msC REE |[FtEA 10°29%17 |
FIRIEKR 10 ‘3353
& HthER 10° 54”75
BF 4x400mR FiE ;‘;ﬁ;ﬁém_ 3°24“30  |RE&EH
ZF 4x400mR FiE ,fgﬁ:ﬂ”ﬁ;i* 403759  |RESHEH
TF HEBk R ILAHE 3m20 YRR X
BF PURIT RE EREC 60m81 71 &PB & R A 314
BT PUBT RB RERX 3smas [t
| ELL 36m76 |




| /1

EH 22Tl FCER e
BF 200m & AEIET 23730(+0.3) |

E3v 3L 23740(=%0.0)
BF¥ 800m T INERKER 15853 HERBEH
| BILEEA 201453 |
ZF 800m FiFE KE#%F 22518
|BF 800m #EREF |[IMNERAE  [2:02°74 |
BF¥ 400mH F:&E JIIEREXR 56“98 HERBEH
$5F 400mH FERE: |IIEEX 56“99
|BF 5000m REF (LA 16'18"62 |
&F 5000m R B2 =M 1700763 [3fi
| A#f tz 18700709 |
BEF¥ 4%x400mR RE Eg;ﬁ: 321797 74
ZF 4x400mR R fﬁg:ﬁg;i* 3’56781 2fi
RE S AM  PE—t 10me0002) DS
| D 12m86(+03) |
ZF P RE 2% T&E [36m80 741
| 7/5-6
iEH E30 e &=
BF tiEmi RE | AKX 4522 5L
100m 12“18(-2.4) |616
iR | 5m54(+48)  [490
At Tm20 319
B | [1m70 544
400m 54“90 603
110mH 17“43(-3.3) |580

[ohs | [20me60 283







